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1, [10%) Prowe lx +y €l slyl e ¥ x, ¥y € A

2. (16%) Bvalunic lip Jooss and i lalgsioe ., Dipes Ui Limit as x— exist?
% A

3. {309 Find the ¥ intercept of the Longenl tor lhe gurve ¥ = X ginxat {1, O

4. (1053 I () = 3 = g x, [ind 2 nuiber ¢ betweee & and x sach that [{x] — 0] =1"(c)im— 0. Wit theoreny
does thiz illosdraic?

5, (1634 Tf (s contiouous in Uhe closed inlerval 1 witl cndgeinia a and b, show thel Lbera cxizls A pail o€ ]
such Ut [T =ficitb—a).

6.[10%%E) Find an approximale valug of b 5 a5 (0llows. fo} Bapress [u 5 as an integral. (b} Compote o Riainaan
suim spproximating e integral by dividing the inweval of inlegrafion into [our subintervals ol equal
length, and evaluatbng e integramd at the nidpoink <[ cach aubrinierval.

7.010%) Find the aréa of the rogion below the curve ¥ = 1f f1-x% | ahowe Lhe & axis, and bebaeen the lines
x=%1, or coné e Lol i does naol cxdst.

. ) N ,
8. (1093 Clagsify fha serics 3, {T“ﬁ“ asolutcly convergem, conditionally convergend, or divergsit.
N

%, {1074} Use a Maclaorin serieg Lo &stimale nfir,

L. {1024} Find the extetans values of Bz, v, 2) = x + ¥ - z on {e sphere W Ey 4T =

24603




